EXHIBIT 1

FINAL RETENTION ORDER

C46385461-6432421D 6000000000000111999 #Filtedlim TIXSHB com 03078041176 PPayre 212 coff 530

IN THE UNITED STATES BANKRUPTCY COURT FOR THE SOUTHERN DISTRICT OF TEXAS HOUSTON DIVISION

ENTERED 10/04/2016

In re	§ 8	Chapter 11
	8	Chapter 11
ABC Dentistry, P.A., et al. 1	2	
ADC Dentistry, 1.A., et al.	8	
	§	Case No. 16-34221
	§	
Debtors.	§	Jointly Administered
	§	
	8	

ORDER AUTHORIZING THE RETENTION AND EMPLOYMENT OF BAKER BOTTS L.L.P. AS COUNSEL FOR THE DEBTORS AND DEBTORS IN POSSESSION EFFECTIVE NUNC PRO TUNC TO THE PETITION DATE

Upon the application (the "Application")² of the above-captioned debtors and debtors in possession (collectively, the "Debtors") for the entry of an order (this "Order") authorizing the Debtors to retain and employ Baker Botts L.L.P. ("Baker Botts") as their counsel effective *nunc pro tunc* to the Petition Date, pursuant to sections 327(a) and 330 of title 11 of the United States Code (the "Bankruptcy Code"), Rules 2014(a) and 2016 of the Federal Rules of Bankruptcy Procedure (the "Bankruptcy Rules"), and Rules 2014-1 and 2016-1 of the Bankruptcy Local Rules of the United States Bankruptcy Court for the Southern District of Texas (the "Local Rules"), after reviewing the Application and the Declaration of Omar J. Alaniz, a partner at Baker Botts (the "Alaniz Declaration"), the Court hereby finds:

- A. The Court has jurisdiction over this matter pursuant to 28 U.S.C. § 1334;
- B. The Application is a core proceeding pursuant to 28 U.S.C. § 157(b);

¹ The Debtors in these chapter 11 cases are: ABC Dentistry, P.A.; ABC Dentistry West Orem, P.L.L.C.; and ABC Dentistry Old Spanish Trail, P.L.L.C.

² Capitalized terms used but not otherwise defined herein shall have the meanings set forth in the Application.

Case 16-34221 Document 373-1 Filed in TXSB on 02/26/18 Page 3 of 13

Cases 461-64324221 D Doorn enter 11999 | Filter dim TIXSSB com 0130/804/1076 | Prayre 223 coff 530

- C. Venue of this proceeding and the Application in this district is proper pursuant to 28 U.S.C. §§ 1408 and 1409;
- D. Based on the representations made in the Application and in the Alaniz Declaration, (a) Baker Botts does not hold or represent an interest adverse to the Debtors' estates and (b) Baker Botts is a "disinterested person" as defined in section 101(14) of the Bankruptcy Code and as required by section 327(a) of the Bankruptcy Code;
- E. The relief requested in the Application is in the best interests of the Debtors' estates, their creditors, and other parties in interest;
- F. The Debtors provided adequate and appropriate notice of the Application under the circumstances and that no other or further notice is required;
- G. The Court reviewed the Application and heard statements in support of the Application at a hearing held before the Court (the "Hearing");
- H. The legal and factual bases set forth in the Application and at the Hearing establish just cause for the relief granted herein; and
- I. Any objections to the relief requested herein have been withdrawn or overruled on the merits.

Therefore, after due deliberation and sufficient cause appearing therefor, it is HEREBY ORDERED THAT:

1. The Debtors are authorized to retain and employ Baker Botts as their counsel nunc pro tunc to the Petition Date in accordance with the terms and conditions set forth in the Application; provided, any services provided with respect any and all litigation with Dr. Rohi (whether at the Texas Supreme Court, the Court of Appeals, the State District Court, the United States District Court or this Court) will be allocated 40% to the Debtors and 60% to non-Debtors.

- 2. Baker Botts is authorized to provide the Debtors with the professional services as described in the Application. Specifically, but without limitation, Baker Botts will render the following legal services:
 - a. advising the Debtors with respect to their powers and duties as debtors in possession in the continued management and operation of their businesses and properties;
 - b. advising and consulting on their conduct during these chapter 11 cases, including all of the legal and administrative requirements of operating in chapter 11;
 - c. attending meetings and negotiating with representatives of creditors and other parties in interest;
 - d. taking all necessary actions to protect and preserve the Debtors' estates, including prosecuting actions on the Debtors' behalf, defending any action commenced against the Debtors, and representing the Debtors in negotiations concerning litigation in which the Debtors are involved, including objections to claims filed against the Debtors' estates;
 - e. preparing pleadings in connection with these chapter 11 cases, including motions, applications, answers, orders, reports, and papers necessary or otherwise beneficial to the administration of the Debtors' estates;
 - f. representing the Debtors in connection with obtaining authority to continue using cash collateral and postpetition financing;
 - g. advising the Debtors in connection with any potential sale of assets;
 - h. appearing before the Court, any appellate courts, or other courts such as state courts, to represent the interests of the Debtors' estates, including any representation related to Adversary Proceeding No. 16-03193;
 - i. taking any necessary action on behalf of the Debtors to negotiate, prepare, and obtain approval of a disclosure statement and confirmation of a chapter 11 plan and all documents related thereto; and
 - performing all other necessary legal services for the Debtors in connection with the prosecution of these chapter 11 cases, including: (i) analyzing the Debtors' leases and contracts and the assumption and assignment or rejection thereof; (ii) analyzing the validity of liens against the Debtors; and (iii) advising the Debtors on corporate and litigation matters.

Case 16-34221 Document 373-1 Filed in TXSB on 02/26/18 Page 5 of 13

C & Sass & 64-64324212 1 D & Door or enter 11999 | Filled im TIX \$5118 om 033/3004/1176 | Prayre 25 of 1530

- 3. Baker Botts shall apply for compensation for professional services rendered and reimbursement of expenses incurred in connection with the Debtors' chapter 11 cases in compliance with sections 330 and 331 of the Bankruptcy Code and applicable provisions of the Bankruptcy Rules, Local Rules, and any other applicable procedures and orders of the Court.
- 4. Baker Botts may, but is not required to, apply any remaining amounts of its prepetition retainers as a credit toward postpetition fees and expenses, after such postpetition fees and expenses are approved pursuant to an order of the Court awarding fees and expenses to Baker Botts.
- 5. Baker Botts shall not charge a markup to the Debtors with respect to fees billed by contract attorneys who are hired by Baker Botts to provide services to the Debtors and shall ensure that any such contract attorneys are subject to conflict checks and disclosures in accordance with the requirements of the Bankruptcy Code and Bankruptcy Rules.
- 6. Baker Botts may charge the Debtors' estate at the preferred rates as described in the Alaniz Declaration, including any yearly increases to Baker Botts' preferred rates. All parties, including the U.S. Trustee retain all rights to object to any fees that Baker Botts seeks based on the reasonableness standard set forth in section 330 of the Bankruptcy Code, and the Court retains the right to review any of Baker Botts' fee applications under the reasonableness standard under section 330 of the Bankruptcy Code.
- 7. The Debtors and Baker Botts are authorized to take all actions necessary to effectuate the relief granted pursuant to this Order in accordance with the Application.
- 8. To the extent the Application, or the Alaniz Declaration is inconsistent with this Order, the terms of this Order shall govern.

Case 16-34221 Document 373-1 Filed in TXSB on 02/26/18 Page 6 of 13

Cases \$66-6424212 1 Data magnet nit 9339 Filled im TIXSIB om 030/804/1176 Praye 25 of 1530

- 9. The terms and conditions of this Order shall be immediately effective and enforceable upon its entry to avoid immediate and irreparable harm as that phrase is used in Rule 6003. The enforceability of this Order shall not be limited notwithstanding the possible applicability of Bankruptcy Rule 6004, 7062, or 9014.
- 10. This Order, and all acts taken in furtherance or reliance thereon, shall be effective notwithstanding any objection until further order of this Court.
- 11. The Court retains jurisdiction with respect to all matters arising from or related to the implementation of this Order.

October 4, 2016.

The Honorable Marvin Sgur United States Bankruptcy Judge

EXHIBIT 2

SUMMARY OF COMPENSATION REQUESTED BY PROJECT CATEGORY

Matter No.	Project Category	Hours Billed	Fees Sought
0101	Saeed Rohi, DDS, ex rel. State v Iraj Jabbary, DDS, et al.	585.3	\$140,519.40
0104	Assumption and Rejection of Leases and Contracts	20.3	10,022.50
0106	Business Operations	90.9	39,382.50
0107	Case Administration	89.2	28,243.50
0108	Claims Administration and Objections	129.5	64,265.00
0109	Employment and Fee Applications	249.8	95,076.55
0110	Financing and Cash Collateral	35.7	18,438.00
0112	Meetings and Communications with Creditors	4.7	3,094.50
0113	General Litigation	134.8	70,227.00
0114	Reporting	55.6	29,426.50
0116	Non-Working Travel	130.9	42,193.25
0117	Plan and Disclosure Statement	468.9	259,650.00
0118	Regulatory Matters	3.4	2,295.00
0119	Tax	124.8	82,796.22
	TOTAL	2123.8	\$885,629.92

EXHIBIT 2A

SUMMARY OF COMPENSATION REQUESTED BY PROJECT CATEGORY SEPTEMBER 1, 2017 THROUGH JANUARY 9, 2018

Matter No.	Project Category	Hours Billed	Fees Sought
0101	Saeed Rohi, DDS, ex rel. State v Iraj Jabbary, DDS, et al.	107.2	\$24,007.00
0104	Assumption and Rejection of Leases and Contracts	6.5	2,960.50
0106	Business Operations	0.7	507.50
0107	Case Administration	13.2	4,199.50
0109	Employment and Fee Applications	75.8	22,408.05
0113	General Litigation	1.9	1,377.50
0114	Reporting	1.5	468.50
0116	Non-Working Travel	13.5	4,346.25
0117	Plan and Disclosure Statement	189.6	88,529.50
	TOTAL	409.9	\$148,804.30

EXHIBIT 3
SUMMARY OF COMPENSATION REQUESTED BY PROFESSIONAL¹

PROFESSIONAL ²	TITLE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Phillips, Thomas R.	Partner	\$1,010.00	0.2	\$ 80.80
Phillips, Thomas R.	Partner	\$950.00	1.8	1,710.00
Stutts, William F.	Partner	\$850.00	0.2	68.00
Alaniz, Omar J.	Partner	\$725.00	332.4	240,990.00
Alaniz, Omar J.	Partner	\$675.00	293.9	198,382.50
Alaniz, Omar J.				
(2017 Non-Working Travel)	Partner	\$362.50	56.6	20,517.50
Alaniz, Omar J.				
(2016 Non-Working Travel)	Partner	\$337.50	45.3	15,288.75
Mandell, Josh N.	Partner	\$725.00	35.8	24,820.37
Mandell, Joshua N.	Partner	\$700.00	27.3	19,110.00
	Senior			
Newcomb, Christopher R.	Associate	\$710.00	7.0	4,970.00
	Senior			
Newcomb, Christopher R.	Associate	\$675.00	81.0	54,675.00
	Senior			
Pinegar, Aaron	Associate	\$695.00	24.9	16,718.22
	Senior			
Pinegar, Aaron P.	Associate	\$625.00	33.8	21,125.00
Hunsaker, Matthew C.	Partner	\$675.00	6.3	4,252.50
Culpepper, Clinton W.	Associate	\$550.00	1.6	880.00
Schottenstein, Noah M.	Associate	\$575.00	8.7	5,002.50
Schottenstein, Noah M.	Associate	\$550.00	136.6	75,130.00
Schottenstein, Noah M.	Associate	\$275.00	6.6	1,815.00
Brooker, Katherine A.	Associate	\$575.00	13.3	7,647.50
Hunt, Chris W.	Associate	\$575.00	24.5	11,603.50
Levy, Jonathan L.	Associate	\$490.00	0.3	147.00
Levy, Jonathan L.	Associate	\$425.00	26.3	11,307.50
Coleman, Sarah M.	Associate	\$490.00	24.8	4,860.80
Coleman, Sarah M.	Associate	\$475.00	0.5	237.50
Tatum, Patrick J.	Associate	\$490.00	147.0	72,030.00
Tatum, Patrick J.	Associate	\$350.00	148.8	52,080.00
Tatum, Patrick J.				
(2017 Non-Working Travel)	Associate	\$245.00	9.1	2,229.50
Tatum, Patrick J.	Associate	\$175.00	7.2	1,260.00

¹ The hours reflected in this chart are not broken out by work performed for the Debtors and the non-debtor affiliates. Such an exercise would be unnecessarily time consuming and not materially improve this Court's or any party's ability to assess the reasonableness of the fees and expenses incurred by Baker Botts. The hours in this chart represent the work performed only on behalf of the Debtors.

² The hours reflected in this chart are not broken out by work performed for the Debtors and the non-debtor affiliates. Such an exercise would be unnecessarily time consuming and not materially improve this Court's or any party's ability to assess the reasonableness of the fees and expenses incurred by Baker Botts. The hours in this chart represent the work performed only on behalf of the Debtors.

PROFESSIONAL ²	TITLE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
(2016 Non-Working Travel)				
Barton, Chad L.	Associate	\$515.00	7.1	3,656.50
Barton, Chad L.	Associate	\$360.00	184.3	58,464.00
Barton, Chad L.	Associate	\$350.00	119.1	41,685.00
Barton, Chad L.	Associate	\$180.00	3.0	540.00
Barton, Chad L.	Associate	\$175.00	3.1	542.50
Plassio, Patrick V.	Associate	\$360.00	14.2	2,044.80
	Senior			
Fontenla, Rory M.	Paralegal	\$295.00	144.5	42,627.50
	Senior			
Fontenla, Rory M.	Paralegal	\$285.00	115.8	33,003.00
Kennedy, Nan	Paralegal	\$295.00	4.5	1,327.50
	Senior			
Avery, Deborah S.	Paralegal	\$295.00	2.0	590.00
	Senior			
Avery, Deborah S.	Paralegal	\$285.00	15.2	4,332.00
	Paralegal			
Stephenson, Elaina M.	Clerk	\$155.00	7.8	483.60
	Research			
Pravata, Richard	Librarian	\$175.00	1.00	175.00
	Research			
Whittlesey, Jane M.	Librarian	\$180.00	0.1	7.20
	Research			
Whittlesey, Jane M.	Librarian	\$175.00	0.3	52.50
TOTAL			2123.8	\$1,058,470.54

EXHIBIT 3A

SUMMARY OF COMPENSATION REQUESTED BY PROFESSIONAL³ SEPTEMBER 1, 2017 THROUGH JANUARY 9, 2018

PROFESSIONAL	TITLE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Stutts, William F.	Partner	\$850.00	0.2	170.00
Alaniz, Omar J.	Partner	\$725.00	114.5	83,012.50
Alaniz, Omar J. (Non-Working Travel)	Partner	\$362.50	10.5	3,806.25
Coleman, Sarah M.	Associate	\$490.00	18.2	8,918.00
Barton, Chad L.	Associate	\$515.00	7.1	3,656.50
Barton, Chad L.	Associate	\$360.00	143.7	51,732.00
Barton, Chad L. (Non-Working Travel)	Associate	\$180.00	3.0	540.00
Plassio, Patrick V.	Associate	\$360.00	14.2	5,112.00
Fontenla, Rory M.	Senior Paralegal	\$295.00	98.2	28,969.00
Avery, Deborah S.	Senior Paralegal	\$295.00	0.3	88.50
TOTAL			409.9	186,004.75

³ The hours reflected in this chart are not broken out by work performed for the Debtors and the non-debtor affiliates. Such an exercise would be unnecessarily time consuming and not materially improve this Court's or any party's ability to assess the reasonableness of the fees and expenses incurred by Baker Botts. The hours in this chart represent the work performed only on behalf of the Debtors.

EXHIBIT 4

SUMMARY OF ACTUAL AND NECESSARY EXPENSES

Expense Category	Service Provider (if applicable)	Total Expenses
Computerized Research		\$1,395.38
Delivery Service		114.14
Electronic Court Records		262.68
Out of Town Travel		
Long Distance Telephone		239.59
Airfare/Train Fare		11,512.60
Meals		1,156.10
Ground Transportation		1,110.36
Hotel		1,752.91
Other: Airport Parking		561.23
Mileage		259.20
Photocopies		2,382.01
Stationery and supplies		87.99
Postage		159.55
Filing Fees		5,851.00
Transcripts		386.45
Mediation – Terry Blacks & Forthright		473.80
CT Lien Solutions		236.00
Harris County Online Court Documents		1.00
Southern District of Texas admission fees		790.00
Secretary of State of Texas		11.00
LexisNexis Risk Solutions Accurinte searches		31.38
OfficeMax - Binders		26.33
SHI International Corp USBs		25.30
ABI Bankruptcy Mediation 10/31/2016		26.00
Total		\$28,852.00

<u>EXHIBIT 4A</u> SEPTEMBER 1, 2017 THROUGH JANUARY 9, 2018

Expense Category	Service Provider (if applicable)	Total Expenses
Computerized Research		\$ 6.35
Electronic Court Records		14.30
Long Distance Telephone		29.712
Out of Town Travel		
Airfare/Train Fare		1,017.48
Hotel		189.39
Meals		100.51
Ground Transportation		132.51
Parking		10.80
Photocopies		1,517.25
Stationery and supplies		50.00
Transcript		69.70
Mediation - Terry Blacks & Forthright		189.52
CT Lien Solutions		94.40
Delivery Service		3.64
Total		\$3,425.56